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>

restart
Ecuacion = diff (y(x, 1), 32) — 5-diff (y , X, 1) +6-diff (y(x,t),x$2) =0
62 62 62
Ecuacion = gy(x t)—35 (my(x, t)j +6 (gy(x, t)j =0

SolucionGeneral = pdsolve( Ecuacion)
SolucionGeneral :=y(x,t) = FI(3t+x) + F2(2¢+x)

SolucionParticularUno = y(x, t) =5-cos(x +2¢) + 6 tan(x + 3 1)
SolucionParticularUno .=y (x,t) =5 cos(2t+x) +6tan(3 ¢ + x)

SolucionParticularDos = y(x,t) =8-exp(x +2¢) + 6-cosh(x + 3 ¢)
SolucionParticularDos = y(x, t) =8 RARE N cosh(3 ¢+ x)

SolucionParticularDosDos := convert(SolucionParticularDos, exp)
SolucionParticularDosDos .= y(x, t) =8 It 3 ditr g3ty

SolucionParticularTres = y(x,t) = (x+21t)--4+ (x+3¢)--6
SolucionParticularTres =y(x, t) = (2 t+x)4 + (3¢ —|—x)6

SolucionParticularTresTres := expand(SolucionParticularTres)

SolucionParticularTresTres .= y(x, t) =16 F 4320 x+242 % +81x +xM+729 8

>

>

F1458 O x + 1215/ %" +540 2 X + 1352 X" 4+ 18 1x° +°

Comprobacion, := simplify(eval(subs(y(x, t) =rhs(SolucionGeneral), Ecuacion) ) )
Comprobacion,:=0=0

Comprobacion | = simplify(eval(subs(y(x, t) = rhs(SolucionParticularUno), Ecuacion) ) )
Comprobacion, :=0 =0

Comprobacion,, := simplify(eval(subs(y(x, t) =rhs(SolucionParticularDos), Ecuacion) ) )
Comprobacion, :=0=0

Comprobacion,, = simplify(eval(subs(y(x, t) = rhs(SolucionParticularDosDos),

Ecuacion)))

Comprobacion,, :=0=0

Comprobaciony = simplify(eval(subs(y(x, t) =rhs(SolucionParticularTres), Ecuacion) ) )
Comprobacion, :=0 =0

Comprobaciony, = simplify(eval(subs(y(x, t) = rhs(SolucionParticularTresTres),

Ecuacion)))
Comprobacions, :=0=0

Comprobacion | := simplify(eval(subs(y(x, t) = rhs(SolucionParticularUno), Ecuacion) ) )

restart

Ecuacion = diff (z(x, y), x$2) + 4-diff (z , X, y) +4-diff (z(x,y),y$2) =
Ecuacion = ﬁz z(x,y) +4 ( z(x, )) +4 (i z(x, y)) =0
ax o’

62
dy ox
SolucionUno = pdsolve( Ecuacion)

SolucionUno :==z(x,y) = FI(y—2x)+ F2(y—2x)x
SolucionDos = z(x,y) =F,(y —2x) +y-F,(y —2Xx)
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SolucionDos :=z(x,y) =F(y =2 x) +y F,(y —2x) (16)

_> Comprobacion, := simplify(eval(subs(z(x, y) = rhs(SolucionUno), Ecuacion) ) )
Comprobacion, :=0 =0 a7

_> Comprobacion,, = simplify(eval(subs(z(x, y) = rhs(SolucionDos), Ecuacion)))
Comprobacion, :=0=0 18)
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